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1
ERy
= BE y - PE y + PE , Y
= 116.02 - 14.81 + 220
= 99.0 [tco,/ 1]
2.
BE y
= BE , y + BE Ly + BE , y + BE , y
= 91.48 + 16.07 + 272 + 5.75
= 11602  [tCO/ ]
BE , y
= BFC , y X w x GCV y X CEF n PJ n BL
= 97 x 1 x 20 x 0.0678 60.0 86
= 9148 [tCOY ]
BE Ly
= BFC Ly X w o, x GCV y X CEFL n PJ n BL
= 18 x 1 x 20 x 0.0598 60.0 82
= 16.07 [tco,/ 1]
BE , vy
= BFC , y X w o, x GCV y X CEF n PJ n BL
= 4 x 1 x 20 x 0.0506 60.0 82
= 2.72 [tco,/ ]
BE , vy
= BFC , y x w o, x GCV y x CEF GCV npPJ + n BL
= 4 x 1 x 20 x 0.47 3.6 60.0 + 100
= 5.75 [tCOy/ ]
BFC , y 1 96.70 t/ 102 x12
BFC Ly 1 LPG 18.36 t/
BFC , y 1 3.67 t/ 15 379
BFC , y 1 367 t/
w o, 1 -
GCV y 20 GJ/ton 21
CEF co 0.0678 tCO,/GJ
CEFL LPG CO 0.0598 tCO,/GJ
CEF CO, 0.0506 tCO,/GJ
GCV 3.6 GJ/Mwh
CEF co, 047 tCO,/MWh
nPJ 60 %
n BL 86 %
n BL 82 %
n BL 100 %
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2
3-1.
PE Yy
= EC .,y + Q y x BFC BFC Ly BFC , y BFC , y x  CEF
= 309 + 1200 x 97 18 4 4 x 047
= 1481 [tCO/ ]
EC .y 309 MWh/ H20 3 H2l 2
Q vy 1,200 % H20 3 H2l 2
CEF 047 tCO,/MWh
3-2,
PE , , , Y
= 178 0.42
= 220 [tCO/ ]
= s D, .,y s AFC ., 1,000 Gov . . .y CEF x
= 1500 + 2.62 1,000 377 0.0687 x 12
= 178 [tCO/ ]
= s D, .,y s AFC ., 1,000 Gov . . .y CEF x
= 1,000 + 734 1,000 377 0.0687 x 12
= 042 [tCO/ ]
- 250km
by 1,500 km 100 x 3%=3 3 x 250kmx 2
AFC |, y 2.62 /L 12t 12,000 16,999y
- 250km
by 1,000 km 100 x 2%=2 2 x 250kmx 2
AFC |,y 734 /L 1t 12,000 16,999y
GCv ., y 37.7 GJ/ L
CEF 0.0687 tCO /GJ
12
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No
11 13
A C
1 0 B 2014/5/1 5 500t
102
P1 BFC , y A-1 1 — — — ° 97t [x 12
79
15 3
3
P2 BFC Ly A-1 1 — — — o 1836t
1 10kg
P3 BFC , y A-1 1 — — — o 367t
P4 BFC , y A-1 1 — — — o 367t 1
P5 EC , y A-1 — — — o 30MWh
9 13
P Q y B 6 3 60 1‘00 02 — o 1,200t
P8 D, ., goo c 1 — — — o 1,000km (
AFC , , y c — — — o 262 m/L 12 17t

P9 AFC , .y c 1 — — — o 7.34km/L
P10 D, .,y goo c 1 — — — o 1,500km
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No
13

2 NCV JIS Z 7302-2:1999 1 2013/10/1 o 2000t
P6 GCV y JIS Z 7302-2:1999 1 o 20.0 GJ/ton
— CEF — o 0.0678tC0O,/GJ
— CEFL LPG — o 0.0598tC0O,/GJ
— CEF — o 0.0506tC0O,/GJ
— CEF — o 0.47tCO,/MWh
— Gev — o 3.6GJ/MWh
— nPJ — o 60%
— n BL — o 861%
— n BL LPG — o 821
— n BL — o 100%
— GCV , , , Yy — o 37.7GJ/kL
— CEF — o 0.0687tC0O,/GJ
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